Answers  Digibook2: Getting to know graphs 



viewing graphs

welcome

no question, so no answer

flower

a  The arrow starts at point  O, is passing six times and stops there.


b  The flower has got eight petals.
little dip

The plot shows a small dip. There is a valley and two summits.

temperature
s
a  The time-axis is from 0 to 24 o’clock




b  About 20 degrees Celsius




c  The name of the graph; time; temperature




d  19,5 degrees Celsius




e  At midnight and at 4 in the afternoon




f  At 14.00 and at 19.00 o’clock

temperatures
a  Such a point indicates a moment the temperature in 
(continued)
Amsterdam and Brussels was exactly the same.


b  From 6.00 to 12.00 and from 22.00 on
fridge
a  The fridge warms up and switches to cool at a certain temperature.



b  Cooling switches on at 7 degrees and switches off at 3 degrees.




c   2 minutes




d   At midnight the fridge door stayed open 

At three in the morning someone probably closed the door. 

stopping train
a  You can see by the names on the axes. Horizontally time, unit is minutes. Vertically distance, unit is kilometres




b   Seven stops between Arnhem and Utrecht. each stop takes 1 minute.




c  The section is 58 kilometres, the train journey takes  46 minutes.




d  At 9.36 hr




e   Halfway Bunnik and Utrecht cs.

trains
a  The express train stops twice on the section; the intercity stops once and the ICE doesn’t stop in between.




b  Express train 46 minutes; intercity 35 minutes; ICE 31 minutes

viewing graphs(continued)

girls run
a  Yvonne has a quick start. Ilse runs constantly and after about half an hour they are almost at the same. Ilse accelerates ; Yvonne acnnot match her




b  40 minutes, 43 minutes




c  580 metres




d  After about 12 minutes was the biggest lead, 590 metres.

curve


a  The curve crosses itself,  is symmetric, has sharp edges




b  Both intersect and touch
math bird
This can hardly be seen. It is math anyway.

making graphs

goods van

5 minutes

delay


From Zeist the  express train has to slow down

precipitation N
In november there was a special peak in Hoofddorp

candles

a  8 minutes    b  Gouda 25 minutes; Hema 53 minutes

projectile

maximal distance 16,70 m, then is p=1 so the angle 45 degrees

curves
a line because thee x- en y-coördinates are the same for every value of t

specials

cheetah
when distance is about 139 metres or more

